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Solving Systems of Equations by Substitution
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Solve each system of equation by substitution.

1) —2x+2y=4
-2x +ty=3

5 —4x + 12y=12
- l4x + 16y = - 10

£2) 2y=—6x+ 10
10x—8y=—26

................................................................................................

f4) —10x +2y=6
P 6x— 16y =48

................................................................................................

i6) 3x—9y= 3
i 3y =3x-3

................................................................................................
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1) -2x+2y=4 £2) 2y=—-6x+ 10
—2x+y=3 P 10x-8y=6
(4,9) P (-24,-8)

O

3) y=-28 f4) —10x +2y=06
16x— 12y=72 P 6x— 16y =48
(0, 3) NN )

5) —4x + 12y=12 16) 3x-9y=—
- 1l4x + 16y = -10 3y = 3x-3

(4.3) L 1.2)
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